EO R A sKiNGzs2

Thread Mask (TM>')—X)

ME- ) BE(FTRERNIEL)
& (BEEH) (oW TG T —23CABLTHYEE A,
BICDOZEXELTIE, ERILERIGENFTEIVET,

WE  IOHl BA7EE HW
(EENOIGE. BHEYUFEICT 3 BMEE)

HERBIULEOAFRIERICADFEENIEVET,, H2OT LDTEIRSEELT,
EREOY > TIVER BRI SOMBOELET,

) — 2 a__Es

Ya—hM17HER—EXR

uE ie & 412 TR | &R |77V || BAR W

A B C D
0 | TM-M6X1 ABe | 528 5.00 14.00 6.30 500 M6
TM-M8X1.25 i 7.19 5.00 12.24 8.41 500 M8
TM-M10X1.5 | E>7 9.09 7.01 16.00 10.39 250 M10
O | TM-M12X1.75 | 1@ | 10.82 8.79 20.12 12.42 250 M12
O | TM-M16X2 iF 14.81 11.00 23.01 16.61 100 M16
O | TM-M20X2.5 3= 18.39 13.00 28.50 20.60 100 M20
~ . O n
AY7247 8 Bm—8X
R i =) 142 TR | &F |77V RAH Py
A B C D

O | TM-M3X05LS Fr 2.72 5.33 20.83 3.51 1,000 M3
O | TM-M4X0.7LS | E>Y 3.58 5.84 21.84 4.09 1,000 M4
O | TM-M5X0.8LS £ 4.52 5.59 20.83 5.26 500 M5
O | TM-M6X1LS 28| 5.28 7.49 24.49 6.30 500 M6
O | TM-M8X1.25LS | 7.19 7.49 22.76 8.41 500 M8
O | TM-M10X15LS | E>7 9.09 7.01 24.00 10.39 250 M10
O | TM-M24Xx2LS | ke | 22.76 16.00 37.85 24.05 50 M24

9>7b7‘7>l"5‘7>1*§ki€%*ﬂ: http//WWWSf]bCij srjb@gol_com
T651-2242 MEHAEXHWRARE1-1-1 FEEEE2—EJL7F TEL 078-990-0755 FAX 078-990-0720


saito
テキストボックス
◎




